FER RS DR s
20245 nAMAISE AN R A RS AR A R 358

o | - | B BR | BR | BAE (BR |, EE
132900100217 |&#r ik 4 | AR | BO1 | 9258 | 80 86.29 1 =
132900100622 [ #41 B | s#Asxn | BO1 | 89.74 | 825 86.12 2 %
132900100616 |F 4 & B | saptasxi | BO1 | 843 | 77.6 80.95 3 =
132900100626 |2 % 4« | A xR | BO1 | 85.62 | 75.1 80.36 4 %
132900100617 [%&F 4 B | sAx"| BO1 | 75.32 | 85.1 80.21 5 =
132900100427 |41 & 4« | A xR | BO1 |88.44] 70.7 79.57 6 %
132900100106 [#73F % B | s i | BO1 | 72.02 | 855 78.76 7 =
132900100517 [#t# B | s#Asxn | BO1 | 75.86 | 81.5 78.68 8 %
132900100510 | BE#% B | shapEni | B0 [ 7714 ] 79.8 78.47 9 =
132900100312 [ & 4« |zt a | BO1 | 7816 | 77.9 78.03 10 %
132900100110 [ E % B | sptasxn | BT | 81.2 | 74.3 77.75 11 =
132900100205 |Fh%y | B | st | BO1 | 7816 | 75.7 76.93 12 %
132900100707 |#kJ&/r4r | % | shantAs A | BO1 | 76.34 | 76.8 76.57 13 =
132900100223 [% 7 7 4« | #iEsa | BT | 7614 77 76.57 13 =
132900100627 % & & | #HEAxR | BO1 | 71.74 | 811 76.42 15 =
132900100614 |Z =% B | s &K R | BOT 69 82.8 75.9 16 %
132900100321 [& # « | siEsa | BO1 | 712 80 75.6 17 =
132900100418 | A 7 % 4« | iR | BO1 | 746 | 76.6 75.6 17 %
132900100117  [##katk % | st a | BO1 | 75.6 | 74.8 75.2 19 %
132900100709 |7% 7 = 4 | #Ax" | BO1 | 748 | 75.4 75.1 20 %
132900100520 |H# 2% 4 | A" | BO1 | 69.48 | 80.5 74.99 27 %
132900100320 || Bs 4 | s#Axn | BO1 | 71.04 | 76.9 73.97 22 %
132900100712 I i % & | sEAxR | BO1 | 70.72 | 77 73.86 23 %
132900100204 |& %% 4« | #iEsa | BT | 61.8 | 84.7 73.25 24 %
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132900100522 | FF % | AR | BOT /0 /6 /3 25 *
132900100309 |E F f& B | sl n | B0 65.12 | 80.4 [2.16 20 &
132900100624 | K i # B o\ s s | BOT | 75.86 | 69.3 /2.58 2/ *
132900100528 |1 #F = | siE R R | B0 6/.92 | 74.7 71.31 28 *
132900100218 | 21 B2t | st | BO1 | 72.76 69 /0.88 29 *
132900100114 |5k ik & = | AR | BOT 06.62 75 70.81 30 *
132900100716 |42 & #% w | stz | BOT | 61.24 | 78.2 69.72 31 *
132900100206 |fE 2 7% = | s | BO1 | 65.58 69 6/.29 32 *
132900100408 | % % | si4tass | BO1 | 66.86 | 65.8 06.33 33 *
132900100509 | R 44 B | shExn | BOT 61.22 | /0.7 65.96 34 &
132900100628 |3 B o\ sz | BOT | 85.06 | #= *
132900100130 | 7 & % % 2 & BO2 | 7/8.18 85 31.99 1 =
132900100604 |45 % 5 2 E BO2 | 95.92 | 64.4 30.16 2 &
132900100513 | & %44 5 2 BO2 | 80.74 | /7.4 79.07 3 %
132900100407 |E % * 5 2 E BO2 | 7614 | 7/.2 70.67 4 75
132900100525 | x| ¥ = % 2 & BO2 | 7/6.86 | /3.8 /5.33 5 %
132900100230 | X fE1E 5 2 E BO2 | 7844 | 72.2 75.32 0 75
132900100304 | #f B% = 5 2k BO2 | 69.18 | /7.6 /3.39 / %
132900100710 | 2= 3 5 2 E BO2 | 76.86 | 63.8 70.33 3 75
132900100226 | Bl Btk 5 2 E BO2 | 73.74 | 066.6 7017 9 %




